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1. 1 54 9,394 [1. Q7] 3,325
(1) FanzF 9,394 2. 9] 877
- wohld g4l 9,394 (3. AbgdH] 8,582
2. HEEATAF 9 5,094 [(1) %A 2] 4,389
(1) B ALA7|2 5,094 (2) HENELY 1,717
- ok A Y 5,094 [(3) =% 1A 520
3. AABALY 171 (4) QeI RgFAH) 2 198
(1) AAA o3y 47 |(5) o4 A=3} 131
(2) 718t 341 124 |(6) =F2d= |33 1,168
- YA, FA A 51 |(7) 3ANE 7% 173
- A, TR 64 (8) =retZa=Ad 286

- 7]E} ALY 5 9
4. A4 dPA 5 134
(1) A&A 93y 47
(2) 718} 341 5 87
5. AA 4% &9 22
(1) durEgH| 22

4. AAA= A7)0 113
6. 7€t 1,832
(1) ¥hgd 1,540
(2) A}7)0] €A 292
A 14,772 A 14,772




